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QUESTION 1

Which three classes are subclasses of Item? (Choose three.)
A. List

B. Alert

C. TextBox

D. TextField

E. Gauge

F. ChoiceGroup

G. Form

Correct Answer: DEF

QUESTION 2

Which is true for Item?

A. The same Command may occur on more than one Item.

B. The same Item may be appended to more than one Form at the same time.

C. When adding a Command to an Item, specifying a command type other than Command.ITEM results in a compilation
failure.

D. Minimum and preferred size CANNOT be changed once an Item is created.

Correct Answer: A

QUESTION 3

A MIDlet that is to be installed on a phone has different values for the MIDlet-Name property between the JAD file and
the manifest in the JAR file. Which is true?

A. A dialog is presented to resolve the conflict.

B. The value in the manifest overrides the value in the JAD file.
C. The value in the JAD file overrides the value in the manifest.
D. The MIDlet installation process will be aborted.

Correct Answer: D
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QUESTION 4

wav is a content type supported on a device that executes:
10.

Player p;

11.

p = Manager.createPlayer("http://foobar.sun.com/sound.wav");
12.

p.prefetch(); Which is true?

A. An exception is generated at runtime.

B. No exception is thrown at runtime. No sound is played.
C. The result is device-dependent.

D. sound.wav is played on the device.

Correct Answer: B

QUESTION 5
Which two are true regarding error handling for classes that exist in both CLDC and J2SE? (Choose two.)
A. The set of error classes is essentially the same in CLDC and J2SE.

B. There is no correspondence between the errors defined by CLDC and J2SE because the needs of CLDC and J2SE
are so different.

C. If a class throws an error in CLDC, it should throw the same error as in J2SE or its nearest superclass.
D. The set of error classes is much reduced in CLDC to help reduce the overhead of the JVM.

Correct Answer: CD
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